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Note:	 The question paper is divided into three sections. A, B and 

C. Write answer as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¢& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question you 

delimit your answer in one word, one sentence or maximum 

upto 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎma dmbo àíZ)

{ZX}e :	 g^r àíZm| H$m CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ 
eãX, EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ 
àíZ 2 A§H$mo H$m h¡&
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1)	 (i)	 What is kernel?

		  H$Z}b ³¶m h¡?

	 (ii)	 What are turnaround time and response time?

		  Q>Z©AamD§$S> Q>mB‘ Am¡a aoñnm|g Q>mB‘ ³¶m hmoVm h¡?

	 (iii)	 Give two reasons of process termination.

		  àmogog Q>{‘©ZoeZ Ho$ Xmo H$maU ~VmAmo&

	 (iv)	 What is the purpose of system calls?

		  {gñQ>‘ H$m°b H$m CÔoí¶ ³¶m h¡?

	 (v)	 Define deadlock.

		  S>oS>bm°H$ H$mo n[a^m{fV H$amo&

	 (vi)	 What is a PCB?

		  PCB ³¶m h¡?

	 (vii)	What is BIOS?

		  BIOS ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmamË‘H$ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{O¶o& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 7 A§H$mo H$m h¡&

2)	 What is multilevel queue scheduling? What are the differences 

between preemptive and non preemptive scheduling?
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	 Multilevel queue scheduling ³¶m h¡? Preemptive Am¡a non 

preemptive scheduling  ‘| ³¶m Ag‘mZVm¶| h¡?

3)	 Explain shot-term and long-term scheduling. Describe the 

differences among short-term, medium-term and long-term 

scheduling.

	 emoQ>© Q>‘© Am¡a bm°ÝJ Q>‘© scheduling H$mo n[a^m{fV H$a|& emoQ>© Q>‘©, 
medium Q>‘© Am¡a bm°ÝJ Q>‘© Ho$ ‘Ü¶ {d{^ÞVmAm| H$m dU©Z H$a|&

4)	 What is deadlock? What are the necessary conditions for the 

deadlock?

	 S>oS>bm°H$ ³¶m h¡? S>oS>bm°H$ {H$ Amdí¶H$ eV} ³¶m h¡?

5)	 Discuss the role of virtual memory in multiprogramming.

	 dMw©Ab ‘o‘moar H$m multiprogramming ‘| ³¶m ^y{‘H$m h¡?

6)	 Define operating system. Explain how operating system acts 

as a resource manager.

	 Am°naoqQ>J {gñQ>‘ H$mo n[a^m{fV H$a|& Am°naoqQ>J {gñQ>‘ H¡$go [agmog© 
‘oZoOa {H$ Vah H$m¶© H$aVm h¡ n[a^m{fV H$a|&

7)	 Explain the difference between internal and external 

fragmentation.

	 B§Q>aZb Am¡a E³gQ>Z©b ’«o$J‘|Q>oeZ {H$ {d{^ÞVmAm| H$mo g‘PmB¶o&

8)	 Explain various methods to access information in files?

	 ’$mBëg ‘| BZ’$m‘}eZ H$mo E³gog H$aZo Ho$ {d{^Þ VarH$m| H$mo n[a^m{fV 
H$amo&

9)	 What is a thread? Differentiate between process and thread.

	 Thread ³¶m h¡¡? àmogog Am¡a W«oS> ‘| {d{^ÞVmAm| H$mo ~VmAmo&
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum upto 500 words. Each question carries 
14 marks.

(IÊS> - g)
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{O¶o& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡&  

10)	 Consider the following set of process with the arrival time and 

CPU burst time given in milliseconds.

	 Process		  Arrival time		  CPU burst time

		  P1			   0			   24

		  P2			   3			   7

		  P3			   5			   6

		  P4			   10			   10

	 Determine the average waiting time and average turnaround 

time for these processes with the preemptive shortest Job first 

scheduling?

	 {ZMo {XE JE àmogog Ho$ g§J«h ‘| arrival Q>mB‘ Am¡a CPU burst Q>mB‘ 
milliseconds ‘| {XE JE h¡&

	 Process		  Arrival time		  CPU burst time

		  P1			   0			   24

		  P2			   3			   7

		  P3			   5			   6

		  P4			   10			   10
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	 Preemptive shortest Job first scheduling H$mo Ü¶mZ ‘| aIH$a 
average waiting Q>mB‘ Am¡a average turnaround  Q>mB‘ H$mo {ZYm©[aV 
H$a|&

11)	 Differentiate between process and program. Explain the 

various states of the process using suitable diagram.

	 àmogog Am¡a àmoJ«m‘ ‘| {d{^ÞVmE§ ~Vm¶|& Cn¶w³V {MÌ go àmogog {H$ {d{^Þ 
ñQ>oQ²>g H$mo n[a^m{fV H$a|&

12)	 For the partitions of 100 K, 500 K, 200 K, 300 K and 600 K  

(in-order). Place the processes of size 212 K, 417 K, 112 K 

and 426 K (in-order) according to Best fit and First fit algorithm.

	 Partition 100 K, 500 K, 200 K, 300 K Am¡a 600 K Ho$ {bE àmogñgog 
{OZ H$m gmB‹O 212 K, 417 K, 112 K Am¡a 426 K H$mo ~oñQ> {’$Q> Am¡a  
First {’$Q> AëJmo[aW‘ Ho$ AZwgma BñWm{nV H$a|&

13)	 What is an operating system? What are the various services 

offered by the operating system?

	 Am°naoqQ>J {gñQ>‘ ³¶m h¡? Am°nao[Q>§J {gñQ>‘ H$m¡Z-H$m¡Z gr g{d©goO 
àmodmBS H$aVm h¡?


